N = 0 &8 AFH Y & A AN
20199 & 20l & LESH A X
A o
3 2 29
S H2H At EI (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
[ 455,858 357,144 98,714
&2 249 402,053 306,889 95, 164
h&ZS AL E I 402,053 306,889 95,164
ARDFOUSAAIS (D) 56,500 56,500 0
401 Al HI L £ 0HHI 56,500 56,500 0
01 A& HI 56,500 56,500 0
OARI2F0=2AAY 50,000
ARDFTOUSAAIL (FOASALY) 6,500
AegtHiiedg (as) 7,034 10, 154 AN 3,120
301 dEtEAZ 7,034 10, 154 AN 3,120
04 Xt LEHUHAH X 7,034 10, 154 AN 3,120
O O0FAlH] 4,000 x2H «365 2,920
O Xt 3,000
O &Iz 6,000 x12& 72
O 9zl 392,000& *1JH & 392
O =422 Xl 150
O Xrsdditf 244l 500
SclgtEedg (2 H) 81,020 81,020 0
301 dEtE A= 81,020 81,020 0
0B SN -0/& - -BtEEs8AZ 81,020 81,020 0
O ol&E JIEsy 200,000 24X «12& 57,600
O o &2 200, 000& *24 2 *200% 9,600
O Ol&3 o EA G 20,0003 *24H x12& 23] 11,520
O etd 82432 25,000& *46H 23| 2,300
APFDHAIX S (CHZS) 4,260 14,260 A 10,000
301 dEtE A= 4,260 4,260 0
09 HAIAHIEA = 3,260 3,260 0
oAHoleEEUH 3 20,000& x25% 500
O=&H 20,000& x50H 1,000
ODJ|EFE AL 800
OO0l (ER) HMsUs 40,000& x24H 960
12 JIEtE &2 1,000 1,000 0
Os=HX& 1,000
A2 (CHESH) 243,239 144,955 98,284
101 @121l 56,259 15,225 41,034
04 JI2ZtHI 22 XNEE % 56,259 15,225 41,034
OE&X2H It & H| 66,800& *15H *63] 6,012
OF T4 JI2384| 68,900& *15H 83| 8,268
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